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14. The integral  ׬ ௗ௫

௫మሺ௫రାଵሻ
య
ర
 equals 

 

(1) ቀ௫
రାଵ
௫ర

ቁ
ଵ
ସൗ
൅ ସݔሺ (2)                    ܥ ൅ 1ሻ

భ
ర ൅ ସݔെሺ (3)             ܥ ൅ 1ሻ

భ
ర ൅ െቀ௫ (4)           ܥ

రାଵ
௫ర

ቁ
ଵ
ସൗ
൅    ܥ

 
Answer: 

න
ݔ݀

ସݔଶሺݔ ൅ 1ሻ
ଷ
ସ
 

 
׬ = ௗ௫

௫మ.௫ቀଵା భ
ೣరቁ

య
ర
 

Putting ݑ ൌ 1 ൅ ଵ
௫ర
  , ݑ݀ ൌ െ ସ

௫య
ݎ݋ ݔ݀ െ ଵ

ସ
ݑ݀ ൌ ௗ௫

௫య
 

 

ൌ නെ
ݑ݀

4 ൈ ݑ
ଷ
ସ
ൌ െන

1
4
ିݑ

ଷ
ସ݀ݑ ൌ െ

1
4
ଵݑ ସൗ

1
4

൅ ܥ ൌ െ൬1 ൅
1
ସݔ
൰
ଵ
ସ
൅  ܥ

 

Correct Option is (4) െቀ࢞
૝ା૚
૝࢞

ቁ
૚
૝ൗ
൅    ࡯

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


